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Biology KS4 book marking

Coded target questions
are assigned based on
the student’s answer
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Formative corrections are made
to answers and students should
respond to these in green pen.
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Biology KS4 assessment marking

(ii) Describe and explain the differences in the data for the sperm and for the egg/ 2_
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Niscuss this conclusion. Use the data and give reasons for and aeainst the scientist’s conclusion./(M/Z

In longer answer questions, the mark scheme points will
... be noted with a number under the ticks, so students know ... MW
Which marks were awarded.
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(b) Explain why some plant cells contain many chloroplasts, some plant cells contain few chloroplasts and some
plant cells contain no chloroplasts./(a)}) ' ?

bl ennlight T o
N ...... f ... W*MWG\AM

N anie o iR A |l |
- Awavy line indicates an unclear statement S
or error which should be corrected. Lado.. ol N\D..... AR AT ... Bolliss, . ooniviiisi
‘ ¥
Nlﬁ" ..... O ... SO LI0LK ... 0 e Pll/l/;}‘ ............... AEG st
4 I #
el ) MAL



	Slide 1
	Slide 2

